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(1) 9dL = oL
(2) 2m3 = omL
(3) ImL = odL
(4) 2m?> = gL
(5) 8cm?3 = omL

DT M TEHNSH AR (https://chugakujyuken-sansuu. com/) & YERTHA YL O—KFTEET,



HiOW®E KiE©o)

(1) 9dL =09L
g5

IL=10dL

£2TC.9+10 = 0.9L

(2) 2m> = 2000000 mL

<fR3>

Im®> =ImxlmxIm
=100cm*x100cmx100cm
=1000000cm?

ImL=1cm3#Z D T. 1m31£1000000mL
&2 2x1000000 = 2000000mL

(3) ImL =0.01dL

g

1L=10dL. 1L=1000mL7EZ M T10dL=1000mL
1dLI£1000+10=100ml

&2, 1+100 = 0.01dL

(4) 2m°> = 2000 L

<fRE>

Im®> =I1mxIlmxIm
=100cm*x100cmx100cm
=1000000cm>

1L=1000cm> DT, 1m3(£1000000+1000=1000L
£27T. 2x1000 = 2000L

(5) 8cm? = 8 mL

<fEEh>

ImL=1cm?>

DT ML TEHISH A RX]  (https://chugakujyuken-sansuu. com/) L YERTHHLO—KFTEET,



